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Name: _____________________________  Date: _____________________ 
 
PART A 
 
There are 279 students at the Valentine’s Day dance that bought tickets before the dance. 136 
students bought tickets when they got to the dance. How many students attended the Valentine’s 
Day dance?  
 
              Show your work to solve and enter your answer in the space provided. 
 
 
 
 
 
 
 
 
 
 
 
 
PART B 
 
Any class that completes 750 minutes on i-Ready gets a pizza party at the end of the year. Your 
class has 486 minutes. How many more minutes does your class need to get a pizza party at the 
end of the year?  
    
 
    Show your work to solve and enter your answer in the space provided. 
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ANSWER KEY 
 

Rubric Part A 
Score Description 

2 Student response includes the following component: 
 

• Computation component = 1 point 
o Correct answer, 415 students. 

• Reasoning component = 1 point 
o The student explains how they solved by showing or 

explaining a strategy such, as partial sum or a number line.  
 

Sample Student Response: 
 
“There are 515 students  because 200+100 =300  70+30= 100 
9+ 6 = 15.   300+ 100 + 15= 415” 
 
Other explanations are possible.   

1 Student response includes 1 of the above elements 
0 Student response is incorrect or irrelevant. 

Rubric Part B 
Score Description 

2 Student response includes the following component: 
 

• Computation component = 1 point 
o Correct answer, 415 points. 

• Reasoning component = 1 point 
o The student explains how they solved by showing or 

explaining a strategy such, as the use of a place vale chart or a 
number line.  
 

Sample student response:  
          4         10          50              100                100 
 
 
 
486     490     500              550                 650                 750 
 
4+10+50+100+100= 264 
 
Other explanations are possible.   

1 Student response includes 1 of the above elements. 
 

0 Student response is incorrect or irrelevant. 
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